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Recognise time to the hour
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OX

Recognise time to the hour

Write the time the clock is showing.

Fluency and precision
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Write the time the clock is showing.

Fluencg and precision
Recognise time to the hour Answers 1
1
M Ty 11 WA 11 . \\\Tiy, A
S \\ // . \ // , S \ /////
10 Z2 103 ~2 10 ~2
9— —3 9 —3 9— —3
87 S 82 4 87 4
// N 7/ A\ 7/ N
!|\\\\ !I\\\\ 71111 \W\Ws
) )
8 o’ clock 4 o clock 12 o’ clock
1
11 . \T VT 1M1 0T, 1
\\ 17, \\ 17, \ 1/

\\\ /7, ’, R \ 77, ’, \\\\ ////
10 2 10 ~2 10 2
9— —3 9— —3 9— —3
87 4 87 4 87 4

N o/ o /// W

1|\\\\ ///!|\\\\ 71111\
6
) )
2 o clock / o clock 1 o clock
\\1 N \\1 T el
\ / \ / /
N7 SN N7
10Q ~ 2 10Q ~ 2 10Q ~ 2
9— —3 9— —3 9— —3
87 4 8~ 4 87 4
7/ \\ // \\ 7/ N
///rlx\\\ !I\\\\ ///!I\\\\
)
3 0’ clock 5 0’ clock

11 o’ clock

masterthecurriculum.co.uk




J |

ﬁ ﬁ ﬁ Draw and write the time given. Fluency and precision
Recognise time to the hour 1
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Recognise time to the hour

12
1M iy, A
\\\\\\ //////
UN Z2
9— =3
87, Ja

12
M Wiy, A
\\\\\\ //////
103 ~2
9— —3
3 hours later °= =
8”7 4

Draw and write the time given.

Fluency and precision
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